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Notes
(a)

MI1: Attempts integration by parts and obtains +Axcoskx+B J. cos kxdx

Al: For Ixsinkxdx =—AlxcosAw+AlIcosAxdr
Al*: Correct proof
(b)
.|t
MI1: Attempts to separate the variables to obtain IIOH dH = jlsm (?)df or equivalent e.g.
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M1: For using part (a) (or starting again) and integrating both sides to obtain
. Tt Tt . .
AH® = Bsm[?J—Cr cos(?j(+c)w1th or without the “ + ¢”
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Al: 5H™ = —,sm(?) ——rcos(?j(w) or equivalent with or without the “ +¢”
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M1: Substitutes =0 and A =5 in order to find the constant of integration.
M1: Uses =52 to find
Al: Correct height of awrt 4.51 m including units.




